
©2023 Superatv.com. All Rights Reserved IN-ROOF-P-RZRXP-002_9-11-23

Aluminum Roof: IN-ROOF-P-RZRXP-002

Item
A

Description

B
C
D
E

Barrel Bolt 26
6
2

2
2

M6x20 Button w/Washer
M6x25 Button w/Washer
Black Zinc Spacer

M6 Nylock Nut

Adhesiv
e Backed Rubber S

eal (2
pcs) 

Edge Seal T
rim

 (1
) 

Roof Bracket Gaskets (2pcs) 

Roof S
ectio

n-2 

Roof S
ectio

n-1 

Aluminum 

Clamps (6pcs) 

Roof B
rackets 

(2pcs)

A C D EB



©2023 Superatv.com. All Rights Reserved IN-ROOF-P-RZRXP-002_9-11-23
2

Adhesive Adhesive 
Seal.  Seal.  

Peel One Side of Peel One Side of 
White Backing Off.  White Backing Off.  

1. First , you will need to assemble a couple
    things before installing the roof. First, find
    the two Adhesive Rubber Seals.  They
    are shaped identical to the two metal
    Roof Brackets that hold the two pieces of
    the roof together.  See Fig.1a.

Fig.1a

2. Then, find the two metal Roof Brackets
    and orient them opposite of each other
    See Fig.1b. These brackets will be used
    to sandwich the two roof sections 
    together, one bracket on top and the 
    other up underneath.

First, you will apply  adhesive seal to 
roof brackets.

Assemble the 2 roof sections.

Install the front rubber edge trimming.

Install Rubber seal strip to top of 
frame.

Cut notches in rubber seal for clamps.

Install roof clamps

Install roof to roof clamps.

What You’ll Be Doing



©2023 Superatv.com. All Rights Reserved IN-ROOF-P-RZRXP-002_9-11-23
3

Metal Roof BracketsMetal Roof Brackets
Laying Mirrored of Each Other  Laying Mirrored of Each Other  

Apply Adhesive Seal To Apply Adhesive Seal To 
Each Metal Bracket on Each Metal Bracket on 

Top Side As ShownTop Side As Shown

Fig.1b

3. Then, peel one side of the paper off one
    of the Rubber seals and apply it to one of
    the Roof Brackets.  Then peel and stick
    the other Rubber Seal to the other Roof 
    Bracket, except make sure this bracket is
    mirrored opposite of the first one.  Fig.1b
    shows both brackets laying opposite of 
    each other and with the adhesive rubber
    seals already applied to one side of each
    metal bracket.

Fig.2

4. Now locate the two roof sections, and
    with using the two Roof Brackets, 
    Sandwich the two Roof Sections with the
    Brackets as shown in Fig.2. 

Top Roof Top Roof 
BracketBracket

Roof Brackets Sandwich The Roof SectionsRoof Brackets Sandwich The Roof Sections

Lower Roof Lower Roof 
BracketBracket

Roof SectionsRoof Sections



©2023 Superatv.com. All Rights Reserved IN-ROOF-P-RZRXP-002_9-11-23
4

Fig.3a

Fig.3b

Fig.4a Fig.4b

5. Then assemble the roof together by
    using the Barrel Bolts provided in your kit
    (item A). Fig.3a shows the roof sections
    with the brackets and barrel bolts 
    installed.

Barrel Bolts Installed Thru Both Roof Barrel Bolts Installed Thru Both Roof 
Brackets and Roof sectionsBrackets and Roof sections

Top Half of Barrel BoltTop Half of Barrel Bolt

Bottom Half of Bottom Half of 
Barrel BoltBarrel Bolt

6. Place the larger half of the Barrel Bolt
    (the one with the large cup washer in
    Fig.3b) on the outside or top side of the
    roof, thru the hole, then install the other
    half (or screw also Fig.3b) into it. Snug
    but don’t tighten down until all 26 bolts
    are installed into both sections. Fig.3a
    also shows the bolts installed looking
    from the “Top side” of the roof as finished.

7. Next, install the rubber Edge Seal all 
    along the lower front edge of the roof as
    shown in Fig.4a & 4b.

Rubber Seal Applied To Rubber Seal Applied To 
Front Edge Of RoofFront Edge Of Roof

Apply Rubber Seal To Apply Rubber Seal To 
Front Edge Of RoofFront Edge Of Roof



©2023 Superatv.com. All Rights Reserved IN-ROOF-P-RZRXP-002_9-11-23
5

Fig.5

Fig.6

8. Before installing the roof onto your machine, you will need to install the 6 clamps that hold it in
    place next. To do this, first install the adhesive backed rubber seal on top of frame where roof will 
    sit as shown in Fig.5.  Set the assembled roof on top the of the vehicle where it would be installed
    and mark on the rubber seal you applied to the top of the bars where the clamps would go 
    according to the mounting holes in the roof.  Then cut the seal leaving spaces for the clamps to fit
    tightly around the bars. See in Fig.5.  Fig.6 shows the spaces with the clamps already installed to
    give you a visual.

Cut The Rubber Seal You Applied Cut The Rubber Seal You Applied 
In 6 PlacesIn 6 Places To Leave Spaces For  To Leave Spaces For 

The Roof Clamps To GoThe Roof Clamps To Go

This Figure Shows The Clamps This Figure Shows The Clamps 
Installed In Those SpacesInstalled In Those Spaces



©2023 Superatv.com. All Rights Reserved IN-ROOF-P-RZRXP-002_9-11-23
6

9. Next, install the clamps in the spaces 
    you cut in the seal, but leave them a
    little loose so you can make final 
    adjustments once all the clamps are
    installed and the top is placed on top.
    See Fig.6.

    Fig.7 shows the clamp using the bolt
    covers and how it is used in the
    clamp. 

10. Install the roof to the clamps using
      the M6x20  (Item B) screws with
      sealing washers, item B. See Fig.8.  

(Fig.8 is showing the use of a clear poly 
roof panel so you can see the clamp in 
its orientation with the roof panel. For 
vizualization only)

NOTE: The two back corner bolts will 
use Spacers, item D. These bolts are 
screwed into the roof frame, not a 
clamp. See Fig.9 & 10.

Install Roof To Clamp Using M6x20 Install Roof To Clamp Using M6x20 
Bolts with Sealing Washers, item B.Bolts with Sealing Washers, item B.

ClampClamp

Fig.7

Fig.8

Fig.9

Corner Bolts With Spacers. Corner Bolts With Spacers. 
One Left Side and One One Left Side and One 

Right Side.Right Side.

View From Rear Driver’s SideView From Rear Driver’s Side

(Fig.9 is showing the use of a clear 
poly roof panel so you can see the 
location of these bolts better. For 

vizualization only)



©2023 Superatv.com. All Rights Reserved IN-ROOF-P-RZRXP-002_9-11-23

Fig.10

Two Back Corner Bolts Use Zinc Two Back Corner Bolts Use Zinc 
Spacers (item D) Between The Roof Spacers (item D) Between The Roof 

Panel and The FramePanel and The Frame

( View From Inside The Vehicle ( View From Inside The Vehicle 

NOW MAKE SURE THAT ALL ROOF BOLTS AND CLAMPS ARE TIGHTENED AND ARE SECURE!NOW MAKE SURE THAT ALL ROOF BOLTS AND CLAMPS ARE TIGHTENED AND ARE SECURE!

  Like SuperATV on Facebook to keep up to date on new products!

Need help with your installation?

www.superatv.com

8:00am - 9:00pm EST M-Th
8:00am - 7:00pm EST Friday
9:00am - 2:00pm EST Saturday

sales@superatv.com

1-855-743-3427

If you have any problems/questions on this kit, contact us by email 
at Superatv.com.


